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ACCOUNTANCY

( Commerce )

Full Marks : 80
Pass Marks : 24

Time : 3 hours

The figures in the margin indicate full marks for the questions
Give the answers of Part-A in the OMR Answer-Sheet provided.

ALLOTMENT OF MARKS

Part—A
Q. Nos. 1 to 40 carry 1 mark each : 1x40 = 40
Part—B
Q. Nos. 41 to 50 carry 2 marks each
(any five out of ten) 2x5 = 10
Q. Nos. 51 to 58 carry 3 marks each
(any five out of eight) 3x5= 15
Q. Nos. 59 to 63 carry 5 marks each
(any three out of five) 5x3 = 15
Total = 80
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(2)
PART—A
( Marks : 40 )
Choose the correct answer :
W% Teacol MR Sferea
% e (R TS

1. According to going-concern conce
as having

ST 2fSRINE 4199 Wge, By

S o 2 0, 4 e
+(a) a limited life / <% Srm S @ﬁ%ﬁ% i
(b) a very long life / 93 IS T Sy / 9§ T

(c) an indefinite life / 9T e G / qﬁwﬁjﬂ

(d) None of the above / 8% <F qls TR [ Sy Q?P‘;GT

Pt, a business is viewed

2. A Balance Sheet shows the financi

et A by - al position of g firm
7% 10 T 2SI R e o
(a) for a given period
a3 W@ R e
«f5 8 SeR o=
(b) :; %a;;;u;zrq point of time
36 RO 3089wy
(c) over the years
T e =7 «f

(d) for the whole life of the firm

1x40=40

(3)

3. Recording of the business transactions in a systematic

way is called
I FCTPIR ATAREelcd e Fa1 “Tafes (PRI = -
IR ERmal gafaed fPRm S A& 6 =/

(a) Accounting / feprefm / R
(b) Recording / fifRa / Ff@=

(c) Journalizing / @ITFIT [/ BCIHIPR
(d) Book-keeping / feprere / TR

4. The amount drawn by a businessman for his personal

use is

e e AT g SoR o |
G T e T 4 PeE T
_(a) capital / YEg [ THEE
+(b) drawing / S=IT / SR

(¢) expenditure / T [ T

(d) loss / CeTIFOM [/ IR

5. In India, the Accounting Standard Board was set up in the

i;zrw@ﬁmﬁmmﬂﬁﬁm__maﬁswl
sreacd R e ARl e it =
(@) 1972
(b) 1977
(c) 1956
(d) 1932
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6. Which of the following is a cash transaction?

/29

B PV s o T N R

(4)

©eTe SCEY T (FICO! (eI 7o e el 4@ = 9
ACare (1 TR FoW (o 90a 41 =2 2 '
(a) Sold goods
ooy
*ey i
(b) Sold goods to Mr. Ram
a2
INCE “on [
(c) Sold goods to Mrs. Si i
P fﬁ,}@ i s. Sita on credit
o e o5 [

(d) Sold goods to Mr. Laxman
. on a
FEIE RpPRES 2o [ oy
P AR 12 21 R

Ledger is a book of i :
P O i
3feae 52fb et &1 |
(a) all non-cash transactions

SRR S e

SRS ST T
(b) secondary entry

(N SRS

QIGERCCE
(c) original entry

ENAR G

(d) all cash transactions

SBRREA 7% (@
SRGfe Fom (@I

(S)

8. Return of goods by a customer is recorded in

2R A #i) e GROTPTR SEeE I =
STECFE G AT (PR (RS SR TRl

(a) purchase book (b) sales book
T R Ty R
& %O [EREEWS
_(c) sales return book (d) purchase return book
Raa frae e w1 e /o
R (T3 © T (T ©
9. Credit balance of the Bank A/c in the cashbook shows
@RS Tge @5 R 5 IR (T
s Tge I AR [ IS (W
(a) overdraft
S
iR

(b) cash deposited into our bank

@S SNE T 4
0T SNCHE T 4

_(c) cash is withdrawn from the bank

oW 4 (RFY 7R SRS
oW 4o A% (T A=J

(dy None of the above
8o[q GHI8 I
T IS T

/29
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(7))

12. If the Trial Balance does not tally after many efforts, then

10. Drawings falls under

T Rse | the is opened.
RIESE] 35fS | ffi T e o 51 @RS 90 =, (o CTeTl 7 |
. (a) Personal A/c (b) Real A/c i Tge e =@ BIel (EFIeTe 99 1 2, 99 C4TTl = |
Jfeere Rorm
RlCERERkT
e e T e (a) Purchase A/c _(b) Suspense A/c
(c) Nominal A/c (d) None of the above i o
g fRpreE ST Bl Ty @ TCREE TR
ERUEIICR
il (c) Sales A/c (d) None of the above
11. Bank Reconciliation Statement
com R i i
statement with e R eERk i T
Ry B o 9o
@ feread [IfS g = & Gil
% e K womn =0
¢ 13. If wages paid for the installation of new machinery is
(a) cash payment journal debited to the Wages A/c, it is
oM RN SR For o g Tl Eem T TR @, cofen R Rerl!
o #IRCNY SCAwR A foprers (ofb 4@ =, cofen OR B =T
o) S e i W TS ﬂ@_ﬂ; ;ﬂ'{(—w ﬂqzq meq =, o9 o b Tgl
], \9
A S GITE “19he fBorrea Cofib &1 =, EYIR
A R 2 (a) Error of commission (b) Error of principle
(c) financial statement LECEACH e g
A8 R ot e Hiex w7
8w Ryl e
., (d) cashbook () Compensating error (d) Error of omission
R Do AT T RLARRAR
T RE e THGPRCH B AR T
/29 [ Contd.
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( 8)

14. How many methods are there for

15.

/29

Trial Balance?

Tge e “[a9 2Fe T4 e AT
T7e fE “[ta %S T4 TS A
(a) One (b) Three
9B b1
CEai ISRIE
(c) Four (d) None of the above
HIRGI @2[q OIS T2
51D TR 9IS 7

The loss of sales of assets is
(T (R S /G
TR 26w Felfe [Rfecs

(a) debited to Profit & Loss A/c
(O 91 2 wTrS-(EAIwI f2piere
TS~ A (ofib a1 20

(b) reflected in Trial Balance credit side
Afewiers =0 Tge fiem a9 (@RS 1
TS e ofcas (S afwfere =

(c) reflected in Balance Sheet
2 STfere 27 Ty cfqe
%% itq 2w =

(d) debited to Trading A/c
CfG 1 = T9-Raw Roiore
#F1-Ren e ok w91 5

preparing a

(9)

16. Depreciation is charged on
S f2piere 49 =
EEpcEREdS R

(a) Current Assets
Bfers Ieife
Bfere Ieife

. (b) Fixed Assets
&g e
&g seife

(c) both Current Assets and Fixed Assets
S ST wre f&a eife e
e el @3z &9 e 7foR

(d) None of the above
G7[Eq B8 W=
TR GFI0e T

17. Which of the following methods of depreciation is not
recognized by Income-tax Law?

TS SRS (PP S TafS I W AN RS T 2
TS (PR ST A S Al RS W A7

(a) Straight-line method
firq- o 1o
forq-Rf “rafe
(b) Diminishing-balance method

FIEPA Tge “Tafe
PR 78 TS

/29 [ Contd.
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18.

/29

( 10 )

(c) Both SLM and DBM
%3 % *rafS =i Trmm Tge “mts et
& R “1afs @ FRerim Ty «1afS 3te
(d) None of the above
89[Fq OIS T
T @S T

Choose the correct chronological order of ascertainment of
the following profits from the Profit & Loss A/c :

woTe SERS oS- AR 35N o[l SCERl AR WEe G
e v

e Te-ETE BPIR (A (@@ 291 el 9Five wEeE
e S -

(a) Operating Profit, Net Profit, Gross Profit
IR TS, 2Fe oS, o A[S

(b) Operating Profit, Gross Profit, Net Profit
AT =TS, o TS, 2 e
IR =S, (6 e, 2Fe e

(c) Gross Profit, Operating Profit, Net Profit
I =S, ARSEW e, age wre
G TS, (5 oS, 23 s

(d) Gross Profit, Net Profit, Operating Profit
o S, 2FS =, /5o s

(11 )

19. Direct expenses are entered in

/o1 F IR SEE ﬂ@g@ 2y
orors RSl TEve A

(a) Trading A/c | (b)

(c) Balance Sheet (d)

TG
TS It

Profit & Loss A/c
G- (O 211
GISRGIE DRy

None of the above
@oFT YBIS 7
TR GFI08 T

20. Generally, incomplete records are maintained by

Sraerce wprel FE =
(a) trader (b)
(@21~ (3_S 7§l

T -JMACEIR A

(c) company
e Jia | DS
@A Al

/29

society
TES Al
IS =

(d) government

DIFINY 791

[ Contd.

B | R L



21. Liabilities and assets amount ¥ 50,000 and ¥ 78,000 23. The Trading and Profit & Loss A/c is prepared under
respectively. The difference amount will represent -y 2517l S =re-(eTne o1t s e 2eeE w\;“—@ 777

Z-Fra o @3 oI TR iR Rem 2 wiege =0 2

|
( 12 ) ( 13 )

@l S effes R F 50,000 T W 78,000 TR 1 Iy

SR (a) summarizing ‘
ol @R Fefe] 4R @ 50,000 B @3 78,000 B 1 gy SefipeRa
M WFEFAFI
(a) creditors (b) debtors (b) recording o
T efemE T BiPrRmT
ST TR i
(c) classifying
(c) profit (d) capital CRIRISIE
e iy ' AR
e Te14

(¢) analysis and interpretation
el S AP

22. Incomplete record mechanism of B00k-keeping is RO GR SRR

ot icf%m@ 24. Which of the following statements is correct?
foTRarceR SpTeye Jfeu 2@ _ oo (TCH1 R va =2
fcre o Rl 9% 7
(a) scientific (b) unscientific Book-keeping is a part of Accounting.
RSl Fappord afp TRBIPRAET WA |
e el TR D o |
: : i fB - i
_I€) unsystematic (d) Both (a) and (b (b) Accounting is a partoo ook-keeping.
RREIRRIO ( ) faproreaet «fb R e SRH |
] a) =< (b) b ool TR A I |
(a) @< (b) fiz
/29 [ Contd.
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(c) The terms ‘Book-keeping’ and ‘Accounting’ can be

(d) Book-keeping is not a part of Accounting.

(14 )

used interchangeably.

e S RoFaT SR 959 =7 |
R 932 TR SR IR =

o1 fRpeaem 9t =i 75y |
o BoTRFeE 93t =i w1 |

25. A liability arises because of
¢l TS (R PIRCTCH! 2
o eerfe rey Fef 2o

_Aa) credit transaction

/29

(b)

(d)

AP EH
M AT

cash transaction
5 (AN
9 (AN

both cash and credit transactions
oI S AR CFTTCT Ty
I 2 P EeE by

None of the above
8T GOIS 7y
TR A0S 7Y

(15 )

26. Which of the following is not the qualitative features of
Accounting?

wo7s Seae (IRC! RO @e1ore CafEr W 2
RS (D RIARFRCR 1o Cae 7 2

(a) Completeness (b) Reliability
ol BRIMEIRIS]

SR [REISIRIC)

(c) Understandability (d) Relevance

SRR NI
ISR APl
27. The pioneer of Accounting is

iR 24X AEEEE

e 22 SRS

(a) Arthur Field (b) Gitman
S IRIEREES [Rgen
CIRIERRE o=

(c) William Pickles {d) Luca Pacioli
aferm YT o AP

[ Contd.
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28. Whic}} of .the following accounts will be credited if
machinery is purchased for cash?

oo SCaAY 9 (@ fRorere

e (R R (e w1 =0 3fit 3z o Srom @ < =0

o) Bapital /g (b) Fixed Assets Aflc

e 2o TR oS RBprey
T TN 7™ e B
(c) Machinery A/c Nd) Cash A/c
Teffe 2o o 2oy
e & s 19

29. Amortization refers to writing off
G T3 o1l g
TP T CET QR

(a) depleting assets Ab) wasting a
f Ssets

[DHeRIEEERiL o TR T
RsofRiae = TP oy
qPl< 9
(c) intangible assets (d) fictitious ass
ST ST PR ooy 3
ST S PR Toifis
A=

/29

( 17 )

30. A person who owes money to the firm is called
Rrem < T 5 @l SR OF (P 2
1 e ICE I (el SICR SIS T =W

“(a) debtor (b) owner
(T e
QI T
(c) creditor (d) None of the above
G @o[Y Qb8 w2y
ZICILE] TAET GI0e T

31. Out of the following, which is not a provision?

wmqwmzﬁw@mawr@mm
ﬁmr@mﬁsﬁmwmwm?

(a) Provision for Doubtful Debt

W%ﬂwsﬁww
e 4l A SR I

for Discount on Debtors
GR SRR I
(57 SRWL TE

,L((b/) Provision
RGN

(c) pividend Equalization Reserve

a@meq35ﬁpﬂﬂﬁﬁsfﬁ§
aﬁanFEI7ﬁPWﬂﬁasfﬁ§

(d) provision for Depreciation

e B SR T

/29
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32. The term ‘Financial Statement’ covers

/29

33.

‘e RYfe’s 5 wge

‘e R3fe’s wida swde

(a) Profit & Loss Statement
S~ (Ao 3o
S-S

b) Balance Sheet and Profit & Loss Statement

TFS I I TS~ (FIFoT RKiyf
TFS g R - (TR 79f

(c) Balance Sheet and Profit & Loss Appropriation A/c

TFE *[q HE A~ AR RgReq Siscaremt B
THE *[q R - CEIRIIER Rigfen sisres B

(d) All of the above
@R HGRCIEDI
EHCERIERIE

How would revenue from sale of
classified?

8 I ORI REW RN T2 ety cMRorer 71 29
T8 R ORI [ A1) ey Srercg MR 91 279
(8} Operating outflow
IR TR g gy

W@QWWW

(b) Operating infloy
eI T I mpy
SRRl SRR TR gy

goods and services be

( 19 ) | R

(c) Investing inflow
e Seor R 7
e BerE RiNaEmeR &

(d) Financing inflow
e e T
oAl R TR A

34. Which of the following would not affect Bank
Reconciliation Statement?

(a) Dishonoured cheque

P G
prfe T

scount received

_(p) Di
' g1 AT

751 NS

Bank interest
@ T
e T

(c)

(d) Chequ€ not presented
g TR ERIR
gepie] TR N FACE
[ Contd.
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35. Overdraft means balance of cashbook.
SRR e 2 Foi 2 W)
R A 5% 180 =

(@) closing / FRfd / sify

(b) debit / @ / ¢

(c) opening / =T / cyE

[d) credit / “newi / sem
36. Rent paid is a

qqorel AReNy =7 «
qIeIel RNy 27 «9fp

() Personal A/c (b) Real A/c

Jheare Zpiere BIicEREREIO
TfSare o RUCEREX e

de)” Nominal A/c (d) Liabilities Afc
A fEprere (9 fRprore
A ey | SCIRE

37. Recording is made in Journal Proper of
F &S fifr 2’5
R BT i 2

(@) opening entries / A R/ ol AR
(b) closing entries [ TRl 2R/ sy 2iffe

(c) adjustment entries / @ Ak /

Jd) All of the above / NMEERIDE S / %W’W@ﬁl
/29

Qe 2Ry

( 21 )

38. The sales book is a part of

g IR o1 R
UL
- al (b) Trading A/c
(g) Journ Egun
&7 - A T
IS
(c) Balance Sheet (d) Ledger

o i
firem e

: n credit is recorded in
f furniture 0
39, Purchase O

e o 2 o R 7
W@Wﬁﬂmw

SR
(a) Journal proper / & SO | 2T

SalSBook/
Ab) © / oM IS

) Cashbook / e

(c
ot 14 Book / 7 Re | T IE

Yd)

40. Trial Balance is a/an

n/@—qn/@ﬁ

of the above [ SR D18 T/ T e W
d Non€
(d) [ Contd.
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PART—B

( Marks : 40 )

Answe
r any five of the following questio:
ions :

s i e R G Ao e o
e erafm @ e Sl ey we e

41. Wri
rite the meaning of Accountin
feprerraer w2 o | i
TR w1 @ |

42. What is GAAP?
GAAP NId 52
GAAP ¥Itsl 9172

43. Write tw
61 o W 2119 ey | B ent:
of% 1 TR 2R o

44. Menti
ention two functions of Trial
Ve e T T T Sy | Balance,
s R #1091 I Sy

/29

T T e

45.

46’

47.

48.

49.

50.

/29

(23 )

Mention two functions of Provision for Bad and Doubtful

Debt.
Wﬁ%wﬂmw@@wwW|
ww%ﬁa:ﬂmﬂﬁmﬁﬁﬁww:{m.

What is entity assumption?

sfge a=en o ?
s 4Rl 2

Mention twO types of transactions recorded in Journal

Proper-

mww@w@«%m@@mu
mmﬂa@f@wﬁwmﬁzﬂw@|

What is journalizing?

m@ﬁr@ﬁﬁﬁf?{mwﬁ?
W@ﬁﬁﬁ@mm%r?

s incomplete record?

What i
wpre ©0 Ffercet & E?
eyl O T @7
diture?

What is capital expen

qﬁzﬁtmﬁs?
gﬁ@?ﬂ?i?

[ Contd.




( 24 )

Answer any five of the following questions :
were i e R e fieonE Ses i
e aslm @ @I b Teg we

3x5=15

51. Explain three features of petty cashbook.
<oA1 <o 3219 Fefwbr Cafigs ford |
<A1 7ol 20T e ey cees |

52. Explain any three needs for prepari _
parin
Reconciliation Statement. & a Bank

e ferm RS orge 9@ R e Tofibn ercamamire: ey <wy |
1 T RIS 2ree 399 @ e Fonb et qyre <z |

53. Explain any three limitations of GAAP.
GAAP 3 T @1e fso1 SiRas! < <41
GAAP-93 @ ¢FIcn Foaf Farmae! 1<m s |

54. Mention any three distinctions between Cash
Accrual Basis of Accounting.

o wom fofe o e Rfer e o /)

Basis and

iy (TN TTD1 oprefesy
T e fofe gz e fefeq wog
iy T QP R ey

55. What is meant by adjustment entry ip Fin
Give two examples of adjustment entry al Accounts?

pere fRorPR searA 2fif e R oo siees

it | %@Wq
o 22eae s afif <= ice § @rm o 5
e |

T{m%ﬁ%ﬁq

/29

(25)

56. How is profit or loss ascertained by Statement of Affairs
method in case of incomplete records?
woﬁﬁﬁﬁwwmwﬂ‘ﬂswﬁq&%@?wmm
CETFDI (FeaTc e vl =8 ?
wvf{f%rﬁawqamwﬁ%wmﬁaﬁ GG |l CIRCRE
T Frercq e o = ?

57. Journalize the following transactions :

wore Al ECTePTIRa Al 2 1
ﬁm@m@ﬁam@ﬁﬁﬁﬁm:

2024

April 1 Commenced business with cash—=< 1,00,000

1,00,000 B FALCACT TP A FI
1,00,000 Brl T ficw T w41
3 Purchased goods from Sarma Store—

¥ 15,000 on credit
wif| (819 °1 15,000 TP STHAN AITS T 391 T

<l (B (4G 15,000 BT STRAN RS @ w1 =g

»

withdrawn cash from bank for office
use——f 5,500
(< A1 T I 5,500 b1 WA T/ L'

Wcmwmws,soomanww

» 5

three objectives of Goods and Services Tax.

fRofaiB1 Sore Ty A |
WWW%WI

58. Mention any
sl i

a@a«mﬂmmm

[ Contd.
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Answer any three of the following questions :
weore fra enqeared R (i fofbrR Tes fu
e st @ @ oafba ey ms ¢

ox3=15

59. Prepare Triple-column Cashbook with the follow
transactions :

wore WAl SAPTEE “91 foN-B9Ye q3= oW <R 2ime 3w -
facare el (AT foT1-v87e 9fb 5% 93 erkge ) -

2024

ing

< /51 /5l

Started business with cash
5 2,50,000

April 1
5 TR TP S 91 25

5% BIRPR TPT SIS 1 2!

» 2  Deposited cash into bank

1,0
@FS 591 & f 2 200

JICE 5 ORFl G (RS 2]

» 3  Bought goods by cheque
(5CFCA *I0 T F41 27 gl

(OF R 21 & 1 20l

» 4  Received cheque from Mr, Gupta
s g9/ &% o H S

i BaR & Neqr (5@

Allowed him discount

(@EF AT T 24 250
¢ T hew =gl

/29

e

(27 )
T
2024 /51 /Bl
April 12  Paid into bank in cash 3,000
@S o 5l ol feA e
JICE oW Bl Sl (TS =CEl
Paid into bank Mr. Gupta’s cheque 5,000
@S iz @Y &3 & i 29
e iz BUF (OF Tl (1S @
» 05 Drew from bank for office use 2,000
TR 4 A (R O R A
e EWE D PE (AT I 9 2
» 30 Paid wages in cash 400
o BIca weid e X
o BT TR TS
: ify the following errors :
Entries to rectify
60. Pass Journa! < A e Afdfe e
oo a1 g I
? ey S of3f8 T8
frre g E T
rav was debited to Gourav A/c
= g50 received from 52 :
(1) ] (AT TS (B0 T XA
sqed o @] &l 850
y g50 Bl (A “MH (SR T 2
A (@ N
: wn for personal use was not
£ T750 withdra




61.

/29

R N

(28 )

(iii) ¥ 380 being purchase return was
posted to i
Purchase A/c e

380 T &Y Rrae, @ f2piere (ot 391 2’
380 TR & (¥R, T fa (SRS 41 2@

Prepare a Bank Reconciliation S
tatem
31st December, 2023 from the following pa:tlilcful o
ars :

wors o Reada o 31 foom, 2023
: R S G5 R R
A T4 : ' g 7T

e 9w e 31 e, 2023
1, e 9o e
2/FS F¢l T .qu\@%

() Bank balance as per passbook—< 5 240
°[g I3 SPIS (FO Tge—5,240 531
2] IF SPIIC TF Tge—5,240 Bl

(ii) Cheque issued but not
present
T4,050 o

4,050 G S Frl (b “ARON4E 0T e 09y
4,OSOWWmemmm@wWWm

Payment__

(ii) Cheques deposited but not entereq i
ed
< 1,400 it

€ Passhook__
1,400 5919 (53 &1 Tl m,ﬁ@wmmm
1,400 51 (5% S (wewl Y, 7 mm%?ﬂ?

(iv) Bank debited T 80 as bank chargeg
@T3 80 B (g I Tapieel (ol e

7% 80 B % 37 oI (o T

62.

/29

(vii) Bills receivable <950

(29 )

(v) 5,000 wrongly credited by bank in our passbook
< 5,000 51 TAGC S 22 JF (FOE I

7% 5,000 Bl SAGC ST 1 JF (b T

Bank interest credited by bank—=< 250

@ 250 591 @5 0 ot (e 76
7% WAl 250 B E o R (@B T

(vi)

discounted but later

dishonoured and no entry has been passed in the

cashbook for this
EqrwwgsommmﬁﬁﬁwmmeW

Hﬁﬁ%@@ﬂmﬁ@ﬁﬁmﬂﬁ
aﬁ@s@w%oﬁﬂ?@ﬁlﬂlﬁﬁﬂﬁﬁwﬂ‘m‘w@@« 4 T

wwﬁ@@ﬂﬁﬁﬁﬁm

Trial Balance of M/s Kalita Enterprise
2023, prepare—

05T, £023 1 weTe fral Tgs e ofe

From the following
as on 31st December,

mﬁfﬁ Fferel tﬂmﬁws 31

om__-
mmﬁw e 31 R0 2023 e ane Tge e og

(qWE—
profit & Loss A/c for the year ended

an :
mber, 2023;
@[l IO AR 9 FH-Rgw o

fapl 280 T
GliCh Swmg\@mmﬁaw ¢ F-Raw @)

Wﬁ@’@m,

?ng-
[ Contd.




(30 )

(b) Balance Sheet as on that date :
CR OIS 93 T /g 45e 79 |
R 91y 996 T8 g oiFe 0

Trial Balance / 5@ fie +z / 5 ey
9q

Debit Amount (%)
(SR T (5=01)
(R P (B101)
Building 18,000
g9
3
Opening Stock
e 8,400
GIRICERITIC
Salaries
= 12,400
o
Rent 3.500
< ; ’
Sl
G{F‘Tll;IrTr:ture 4,950
R2I%EIE|
Wages 6.40
9 . »400
T
Purchases 38.0
i ,000
il
Octroi Duty
i 875
S RISEl

Credi
edit Amount ()
s TP (5°1)
Purchase Return Sy
B 1,400
&Y (F9e
Provision fi
or Doy
R 7 oy g D 40
:im% R Ry 370y
es
[Sry
66,275
Ry
Interest Recelved
T 2A1fy Ry
M 2f1fy
Creditors
MeImR
e 4,200
Outstand
In
. € Wageg
e gy 900
Capita]
T
o 45,000
Bills Payahe
2,000

(31)

Debit Amount (T)
(o6 TP (51)
(oG 1t (B1T)
Bad Debts 600
SEEEA 49
SR 4
Advertisement 2,000
e
e
Drawings 3,000
RIESH|
RIESR
Sundry Debtors 15,000
Ry e
Ry MR
Bills Receivables 6,000
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1,20,575
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1,20,575
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(ii) Closing Stock—< 9,750
AR Tge—9,750 5
I Ege—9,750 Bl

(iii) Make Provision for Bad Debt—<¥ 500
AR 49 903 S 97 FRA—500 Tl
SRR 40 &0 SR I9E FI—500 B

63. Distinguish between (any two) : 014xD=5
o e ([ CPIeat got)
N2l (P48 (A I o)
(a) Capital Expenditure and Revenue Expenditure

TG T I e I
TR T G BeTS T

(b) Capital Receipts and Revenue Receipts
T 2fife o i ey

T 2 @) TP ey

(c) Capital Profit and Revenue Profit
TR TS S APARS +1 )
TN A G TP T
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